20244E11 8210 & W FE £ @® i Rk
W H B (kg) | GHECFM) PEARPE (Bt EH | R |FERmREIKS
i i %4l (kg)

KB 2,067 59 600 250 2000 REE| 13.00[HYRIGZAH
KB 54,450 5, 695 2,200 1, 600 200|EREIE| 13.00(48 xt
K® | 13,286 1,006 1,800f  1,200]  1,100|EE)RS®R| 13 00[5E=#HR5E
AB 260 22 900 800 150|Eig R 10. 00} Y IZ A *,
AB 16, 300 4,868 3,000 1,400| IR 10. 00|48 =t
AL [ %0f 83 | 3700 [ERAR | 10.00|%=FMHE
=k 49, 740 4,855 2,000 1,500 300|EIREE| 15.00(4 3
S5 1, 650 157 2,000 1,200 EIRB B! 15 00| =HRR5E
FoAy | 2,490 272f  1,400f  1,000)  6OO|EElRER| 10.00{tYITAH
TRy 71, 465 15, 951 2,300 2,000 1,200 BIRER| 10.00{# >t
FapRy 5,940 1,153 2,200 1,900 1,000| =5 E 10. 00| =FEH Rt
E5hAE | 90| 620 3,900f _2,400fERER | 6.001f8 X
F5hAE 174 114 4,000 2, 150| RiIBE 5. 00|58 =&kt
=F 5,238 3,109 2,200 2,000 250|ERER 3.00{#8 =t
a® | 366} 238 2000 1,800 1,300|ERER| 3 00|F=FHMR:E
Jowal)— 1,678 554 3, 600 1, 700 RIGR 6. 00|48 =t
Joval)— 360 155 2,400 RIGR 6. 00| = H AR5
LSA | 12316 20641  2,400| 2,000 1,200 KR | 10.00148 X
AR 3,060 603 2,200 1, 850 1,250 RIBE 10. 00|38 = HBR5E
31N 5,275 2,640 3,400 2, 600 1,400 ERERE 5 00148 =t
gm.o .} moy 61} 2600 | 2500|@RER| 5 00|F=HMKE
EEE 3,374 3,131 450 350 150 |RERIE 0.50{# =t
b s 955 663 4,200 1, 800 1,600 K4 4, 00| = HER5E
A5 |62l | 130l |ERBR| 0.20[YRIEAR
F05 102 88 80 75 60121 0.08/48
HiE 2,830 640 2,000 1, 400 600|EIRB R 5 00| URITAHL
H# | 1.140p 353} 20000  1,400f ~ B8OO|EEREWR| 50004
HiE 720 261 2,000 BO0IEERER 5. 001 =& k5t
EHNE 20 1 600 dtiEE 10. 001U I AFL
S 0 | 53100 1,006) 2,350}  2,150|  OOO|RMFE | 10.00(#8 %
EHE 200 34 1, 600 dtigiE 10. 00| =ER5E
£ 10 0 500 dbiEE 10. 00| Y RIZAHL
& | 20383 3093 280 |  1,900[dki#m:E | 200048
EE 3,930 548 2,800 2,300(dtiE1E 20. 00| = FHR5E
AW | 1,84 41| 5000 1,600  600|EEREM| 10.00/#YRIFALL
Pt 8,512 1,981 3, 200 1, 300| R 5I8 10. 00|48
R 500 226 4,200 RERIE 10. 00| =& BR5E
S 4 5 350 =iEE | 0.25/4

(RIES65FE21E)
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. HE(g | &EEM) BRIRE (B M | B |REREIKS
" R wE | wE | 2 w |
£ 19 28 350 =y sy 0. 25| = HR5E
YA 4 024 2,429 6, 200 5,400 3,000/ /A 10. 00j48 =t
WA | 1,430 740  6,000]  4,400|  3,800|FHR | 10.00|F=HMRT
i 13,728 3,513 1,300 900 700 112 [E 12 5 00i48 =t
*h 485 206 4,200 4,000 3,800 |t R 10. 00| E =& H5e
S 185 3504 2,700f 1,800  1,500\1LfizR | 5.00(#8 X
Z 35 18 2,400 iz IR 5. 00| =FEE
SES 572 1,373 800 750 T00 I REFE 0. 35|48 =t
SES 3 92 1o} |EHR | 035F=#HMRE
A0y 985 596 5,500 6, 500 2,400 |k 418 8.00{#8 =t
Oy 35 18 2,400 RIFE 5. 00|E=&EER3E
3 | a0 700] 50| 400{YRER| 0258 URIEAR,
7 130 218 500 380 280lEIREBR 0. 25|48 =t
A 48 23 7,200 EIBER 16. 00{#48 =t
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